
M O N T A G E A N L E I T U N G

T-Verteiler mit Taster

de

en



M O N T A G E A N L E I T U N G

T-Verteiler mit Taster

de

en



Alle Rechte vorbehalten. Irrtümer und Änderungen vorbehalten.

1 Produktbeschreibung
Der T-Verteiler mit Taster verbindet Sender und Empfänger des deTec4. Gleichzeitig
dient der T-Verteiler als Taster zum Ein- und Ausschalten der integrierten Laser-Ausricht‐
hilfe des deTec4.

Die Taste ist mit „Push“ gekennzeichnet (siehe A  Position 1).

2 Elektrische Installation
Anschlüsse: A

Der T-Verteiler darf nur an den Systemanschluss eines Einzelgeräts oder eines Host-
Geräts angeschlossen werden.

1. Sender am Anschluss 4 anschließen, beschriftet mit „Sender“.
2. Empfänger am Anschluss 3 anschließen, beschriftet mit „Receiver“.
3. Sicherheits-Steuerung oder Sicherheits-Relais am Anschluss 2 anschließen,

beschriftet mit „System“.

3 T-Verteiler mit C-Fix-Halterung montieren
C-Fix-Halterung: B

T-Verteiler mit C-Fix-Halterung montieren: C

1. C-Fix-Halterung (1) auf einer ebenen Fläche montieren.
2. M5-Schrauben mit einem Drehmoment von ca. 3 Nm befestigen. Höhere Drehmo‐

mente können die Halterung beschädigen, geringere Drehmomente bieten keine
ausreichende Sicherheit gegen Verschieben.

3. T-Verteiler in die C-Fix-Halterung einsetzen und leicht nach unten drücken (2).
4. T-Verteiler nach hinten drehen (3), bis die C-Fix-Halterung im Gehäuseschlitz des

T-Verteilers einrastet (4).
5. M3-Schrauben der C-Fix-Halterung mit einem Drehmoment von ca. 1,5 Nm befes‐

tigen, um den T-Verteiler zu fixieren (5).

4 Bestelldaten

Artikel Artikelnummer

T-Verteiler mit Taster, 5-polig für Laser-Ausrichthilfe 2077933

5 Montagezubehör

Artikel Artikelnummer

C-Fix-Halterung 2068830

MONTAGEANLEITUNG

8016552/ZRV1/2017-11-08 | SICK M O N T A G E A N L E I T U N G | T-Verteiler mit Taster 3
Irrtümer und Änderungen vorbehalten



 

A

2

3

4

Push
laser

alignment
aidS

y
s
te

m

R
e

c
e

iv
e

r
S

e
n

d
e

r

1

 

B

 

C

 

D

4

5

3

2

1

S1

4

5

3

2

1

4

5

3

2

1

S
y
s
te

m

R
e

c
e

iv
e

r
S

e
n

d
e

r

MONTAGEANLEITUNG

4 M O N T A G E A N L E I T U N G | T-Verteiler mit Taster 8016552/ZRV1/2017-11-08 | SICK
Irrtümer und Änderungen vorbehalten



M O U N T I N G  I N S T R U C T I O N S

T-connector with pushbutton

de

en



All rights reserved. Subject to change without notice.

1 Product description
The T-connector with pushbutton connects the sender and receiver of the deTec4. The
T-connector is also used as a pushbutton for switching the integrated laser alignment
aid of the deTec4 on and off.

The pushbutton is indicated with “Push” (see A , item 1).

2 Electrical installation
Connections: A

The T-connector must only be connected to the system connection of an individual
device or a host device.

1. Connect the sender to connection 4, labeled “Sender”.
2. Connect the receiver to connection 3, labeled “Receiver”.
3. Connect the safety controller or safety relay to connection 2, labeled “System”.

3 Mounting the T-connector using a C-Fix bracket
C-Fix bracket: B

Mounting the T-connector using a C-Fix bracket: C

1. Mount the C-Fix bracket (1) on a level surface.
2. Tighten the M5 screws with a torque of approx. 3 Nm. Higher torques can damage

the bracket; lower torques provide inadequate protection against displacement.
3. Insert the T-connector in the C-Fix bracket and gently press it down (2).
4. Rotate the T-connector towards the back (3), until the C-Fix bracket engages with

the slot in the T-connector housing (4).
5. To secure the T-connector, tighten the M3 screws of the C-Fix bracket with a torque

of approx. 1.5 Nm (5).

4 Ordering information

Part Part number

T-connector with pushbutton, 5-pin for laser alignment aid 2077933

5 Mounting accessories

Part Part number

C-Fix bracket 2068830

MOUNTING INSTRUCTIONS

6 M O U N T I N G  I N S T R U C T I O N S | T-connector with pushbutton 8016552/ZRV1/2017-11-08 | SICK
Subject to change without notice



 

A

2

3

4

Push
laser

alignment
aidS

y
s
te

m

R
e

c
e

iv
e

r
S

e
n

d
e

r

1

 

B

 

C

 

D

4

5

3

2

1

S1

4

5

3

2

1

4

5

3

2

1

S
y
s
te

m

R
e

c
e

iv
e

r
S

e
n

d
e

r

MOUNTING INSTRUCTIONS

8016552/ZRV1/2017-11-08 | SICK M O U N T I N G  I N S T R U C T I O N S | T-connector with pushbutton 7
Subject to change without notice



 
Further locations at www.sick.com

Australia
Phone +61 3 9457 0600
 1800 334 802 – tollfree
E-Mail sales@sick.com.au

Austria
Phone +43 22 36 62 28 8-0
E-Mail  office@sick.at

Belgium/Luxembourg
Phone  +32 2 466 55 66
E-Mail  info@sick.be

Brazil
Phone +55 11 3215-4900
E-Mail  marketing@sick.com.br

Canada
Phone +1 905 771 14 44
E-Mail  information@sick.com

Czech Republic
Phone +420 2 57 91 18 50
E-Mail  sick@sick.cz

Chile
Phone +56 2 2274 7430
E-Mail info@schadler.com

China
Phone +86 20 2882 3600
E-Mail info.china@sick.net.cn

Denmark
Phone +45 45 82 64 00
E-Mail  sick@sick.dk

Finland
Phone +358-9-2515 800
E-Mail  sick@sick.fi

France
Phone +33 1 64 62 35 00
E-Mail  info@sick.fr

Germany
Phone +49 211 5301-301
E-Mail  info@sick.de

Hong Kong
Phone +852 2153 6300
E-Mail ghk@sick.com.hk

Hungary
Phone +36 1 371 2680
E-Mail  office@sick.hu

India
Phone +91 22 6119 8900
E-Mail info@sick-india.com

Israel
Phone +972 4 6881000
E-Mail  info@sick-sensors.com

Italy
Phone +39 02 274341
E-Mail  info@sick.it

Japan
Phone +81 3 5309 2112
E-Mail  support@sick.jp

Malaysia
Phone +6 03 8080 7425
E-Mail  enquiry.my@sick.com

Mexico
Phone +52 (472) 748 9451
E-Mail mario.garcia@sick.com

Netherlands
Phone +31 30 2044 000
E-Mail  info@sick.nl

New Zealand 
Phone +64 9 415 0459
 0800 222 278 – tollfree
E-Mail sales@sick.co.nz

Norway 
Phone +47 67 81 50 00
E-Mail  sick@sick.no

Poland
Phone +48 22 539 41 00
E-Mail  info@sick.pl

Romania
Phone +40 356 171 120 
E-Mail office@sick.ro

Russia
Phone +7 495 775 05 30
E-Mail  info@sick.ru

Singapore
Phone +65 6744 3732
E-Mail  sales.gsg@sick.com

Slovakia
Phone +421 482 901201
E-Mail  mail@sick-sk.sk

Slovenia
Phone +386 591 788 49
E-Mail  office@sick.si

South Africa
Phone +27 11 472 3733
E-Mail info@sickautomation.co.za

South Korea
Phone +82 2 786 6321
E-Mail  info@sickkorea.net

Spain
Phone +34 93 480 31 00
E-Mail  info@sick.es

Sweden
Phone +46 10 110 10 00
E-Mail  info@sick.se

Switzerland
Phone +41 41 619 29 39
E-Mail  contact@sick.ch

Taiwan
Phone +886 2 2375-6288
E-Mail  sales@sick.com.tw

Thailand
Phone +66 2645 0009
E-Mail  Ronnie.Lim@sick.com

Turkey
Phone +90 216 528 50 00
E-Mail  info@sick.com.tr

United Arab Emirates
Phone +971 4 88 65 878
E-Mail  info@sick.ae

United Kingdom
Phone +44 1727 831121
E-Mail  info@sick.co.uk

USA
Phone +1 800 325 7425 
E-Mail  info@sick.com

Vietnam
Phone +84 945452999
E-Mail  Ngo.Duy.Linh@sick.com

SICK AG  |  Waldkirch  |  Germany  |  www.sick.com

80
16

55
2/

ZR
V1

/2
01

7-
11

-0
8/

de
, e

n


	Montageanleitung
	Montageanleitung
	1 Produktbeschreibung
	2 Elektrische Installation
	3 T-Verteiler mit C-Fix-Halterung montieren
	4 Bestelldaten
	5 Montagezubehör

	Mounting instructions
	1 Product description
	2 Electrical installation
	3 Mounting the T-connector using a C-Fix bracket
	4 Ordering information
	5 Mounting accessories

	SICK

